














From 


To    
Absorbance1 Milliabsorbance2 Molar Extinction3 Degrees4 Millidegrees5 Molar Ellipticity6

(A) A A*1000 A*M/(C*L) A*32.98 A*32980 A*M*3298/(L*C)

(mA) mA/1000 mA A*M/(C*L*1000) mA*0.03298 mA*32.98 mA*M*3.298/
(L*C)

() *C*L/M *C*L*1000/M  *C*L*32.98/M *C*L*32980/
M

*3298

(°) °/32.98 °/0.03298 °*M/(C*L*32.98) ° °*1000 °*M*100/(L*C)

(m°) m°/32980 m°/32.98 m°*M/(C*L*32980) m°/1000 m° m°*M/(10*L*C)

[Θ] [Θ]*C*L/(3298*M) [Θ]*C*L/(3.298*M) [Θ]/3298 [Θ]*C*L/(100*M) [Θ]*C*L*10/M [Θ]

(A)(A) A A*1000A*1000 A*M/(C*L)A*M/(C*L)A*M/(C*L)A*M/(C*L)A*M/(C*L)A*M/(C*L) A*32.98A*32.98A*32.98 A*32980A*32980 A*M*3298/(L*C)A*M*3298/(L*C)A*M*3298/(L*C)A*M*3298/(L*C)A*M*3298/(L*C)A*M*3298/(L*C)A*M*3298/(L*C)

(mA) mA/1000 mA A*M/(C*L*1000)A*M/(C*L*1000) mA*0.03298mA*0.03298 mA*32.98mA*32.98 mA*M*3.298/
(L*C)(L*C)(L*C)(L*C)

)( *C*L/M*C*L/M*C*L/M*C*L/M*C*L/M *C*L*1000/M*C*L*1000/M*C*L*1000/M*C*L*1000/M*C*L*1000/M*C*L*1000/M  *C*L*32.98/M*C*L*32.98/M*C*L*32.98/M*C*L*32.98/M*C*L*32.98/M*C*L*32.98/M*C*L*32.98/M *C*L*32980/*C*L*32980/*C*L*32980/*C*L*32980/*C*L*32980/
M

*3298*3298

°)( °/32.98/32.98 °/0.03298/0.03298 *M/(C*L*32.98)°*M/(C*L*32.98)*M/(C*L*32.98)*M/(C*L*32.98)*M/(C*L*32.98)*M/(C*L*32.98)*M/(C*L*32.98) ° °*1000 *M*100/(L*C)°*M*100/(L*C)*M*100/(L*C)*M*100/(L*C)*M*100/(L*C)*M*100/(L*C)*M*100/(L*C)

°)(m °/32980m °/32.98/32.98m /32.98 *M/(C*L*32980)°*M/(C*L*32980)*M/(C*L*32980)*M/(C*L*32980)*M/(C*L*32980)*M/(C*L*32980)*M/(C*L*32980)m °/1000m °m *M/(10*L*C)°*M/(10*L*C)*M/(10*L*C)*M/(10*L*C)*M/(10*L*C)*M/(10*L*C)*M/(10*L*C)m

Θ][Θ *C*L/(3298*M)[Θ]*C*L/(3298*M)[Θ][Θ] *C*L/(3.298*M)[Θ]*C*L/(3.298*M)[Θ]*C*L/(3.298*M) [Θ]/3298/3298[Θ][Θ] *C*L/(100*M)[Θ]*C*L/(100*M)[Θ] *C*L*10/M[Θ]*C*L*10/M*C*L*10/M[Θ] [Θ][Θ]


































